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(iv)

(v)

(vi)

Uil)

111)

1X)

(@) Increase.
(c) Not Change

(a) Liabilities = Assets — Capital.
(c) Capital = Assets — Liabilities. " (e
The liabilities of a firm are ¥ 3,000; the capital of
assets are:

(@) ¥ 7,000.
(¢) T 4,000.
X commenced business on 1st April, 2013 Wlth

(@) % 7,50,000.
(¢) % 5,50,000.

An increase in one asset is accompanied by
(a) Decrease in another asset. ‘

(c) Increase in capital.

Decrease in one liability may lead to

(a) Decrease in an asset.

(c) Either (a) or (b).

Purchase of machine by cash means

(a) Decrease in asset and decrease in liabilit;

(b) Increase in asset and decrease in asset.
(¢) Increase in asset and decrease in liability
(d) Decrease in asset and increase in capital.
Payment to a creditor means '

(a) Increase in asset and decrease in 11ab1111:y
(b) Decrease in asset and decrease in liability |
(¢) Decrease in asset and increase in liability.
(d) Increase in asset and increase in liability.
Purchase of furniture on credit means |
(@) Decrease in asset and increase in liability.
(b) Increase in asset and increase in liability.
(c) Increase in asset and decrease in liability.
(d) Decrease in asset and decrease in liability.
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1. Explain in short the meaning of an Accb un h

9. “Accounting Equation (A=L+ C) alwa , "hol'
the help of two examples. ‘

3. What is owner’s equity? Give an equatio
at least.

4 From the following information find th.
7 1,00,000; Loan from Bank X
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Assets

(z) ¥ 20,000
@) ?

(zzi) ¥ 10,000

315000 +
X 5,000
? 1.
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